There are four versions of +his quiz.

Name:
Quiz 6

Consider the following three Hermitian operators:
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(We will see that these correspond to the angular momentum operatots for [ = 1, but for
now just treat them as Hermitian operators.) /V or L /

1. If the state of the system just prior to an L, measurement is

1
[(07)) = ( 0 ) ; (2)
0

what are the possible outcomes of the L, measurement and what are the probabilities
of those outcomes?
2. If many identical measurements were made, what would be the average value of L,
ined?
obtained? /ﬂ/ or -4
3. Suppose the measurement in part 1. yields a value of +A#. What is the state of the

system immediately after the measurement?

4. If the Hamiltonian of the system is H = wlL,, what is the state of the system at time
&?
t later? or L—;c

5. A measurement of L, is made at time ¢, what are the possible outcomes and the
probabilities of those outcomes?
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6 Soluhion

A Lx measurement
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||Eigenvectors & __E.:_'_q.enva.’mes of Lx*
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iCalewlation of select probabilities:
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